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7. (10 pts) Sketch a plausible graph of a function, f, that satisfies all of the properties listed.

a. _lirrsl_ f(x)=3 d. lim f(x)=—e g. f(4)=3
b. lim flx)=1 €. 111? flx)==
c. f(-5)=3 f. lim flx)=2

s —I—p h. }J,C-!- o.f\ ¥=-% ?/
xs Tes J\" c o d: -}.J-\'] (
R 4,3
W\/\.‘ P
-5, N “4.D



240131-notes.notebook January 31, 2024

j,.,‘v (X"q—ﬁ.x-l) =34 U(s-:?q>

(2 1Y

Wr assumr S«
g“‘uﬂvm \ ‘;\-{\’—- I.V"-P"-V—'S‘T\'—'- lv_g'”)“-?-l
N FALY— ~

VERTIEARS ((whom v wmald2 13'5"‘3

¥
S roof
NJ’-J G bouMJ o ! 4
Iw+?!
Loo“’@ x+ +
—

(5,12

< -* I gﬁ | ~———=7 [wszl £ ‘S/SE
|1.-l-:P\S £ 3 S ,
Clatm?
§/AS (x"+1x-|>—,a4
Y=Ss
roo & e
P.l,...z-l' ¢ >0 Ke givee—- D-CC"'e g="""\“{\’ '3§' The
o0 4 |lx-5l ¢¢ Yo phes | s 2x—t—3v (= [ vrzv-35 |
e _
c\\u«ﬂ—l\\(—s‘(ﬁt's’x-g( < 13§ 13- 13 -i@

é
7
,_/' S‘—“N\t\'\{\, %sg
g’ O 28 €
e | d S =3



240131-notes.notebook January 31, 2024

Va3 bl €3

— wne/ Lborknd o ¥=0.
Rt 4's cdamped b'j
S x32-

Writing this guy up will make a good Writing Project #1.
https://harryzaims.com/public_html/201/201-fall-13/tests/201-test-1-fall-13.pdf

https://www.desmos.com/calculator
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6. [-/2 Points] DETAILS SCALCY 1.7.007.

A graphing calculator is recommended.

For the limit lim (3 — 4x + 1) = 1, illustrate this definition by finding the largest possible values of § that correspond to
x =2

g=0.2 and £ = 0.1. (Round your answers to four decimal places.)
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